
Decision Grid III 

Question:  
____________________________________________________________________________________________________________
____________________________________________________________________________________________________________ 

Costs   Benefits Consequences 

Short-term Long-term     Short-term Long-term Positive Negative

 

Alternative #1 

      

 

Alternative #2 

      

 

Decision:  
____________________________________________________________________________________________________________
____________________________________________________________________________________________________________ 
 
 


